aih 21 == 0 |22 5 BR 2 Bl

CHIAN TAY HYDRAULICS' CO., LTD.

Hodik s R AR = EmE IR ERA2TR (A 1ER)
ADD:No. 42, Sec. 1, Chongsin Rd., Sanchong City, Taipei, Taiwan
TEL: 02-29733752, 29725258, 29735107~8 FAX: 02-29735109

E-mail: chian:tay@msahinet:net

http://www:chiantay.com.tw

42008

581558 P BT

Hydraulic Cylinders
for Steel Mold

www.chiantay.com.tw
chian.tay@msa.hinet.net




A7)y

Company Introduction

ol ¢ == ;i B2
EHIAN TAY HYDHAULICS

RERTHBREEHEERAHBIIEFECSE ZT85F - B
HESEMBIILUAEREARAZHTRAES  BEBEELHER
EiEP Y - BRI SR ARREIIEEMT -

J EifFAZE
J BEDEHFAZ
J EElFA R
2 EifLAZE
J BHsSpH
O RENNFESDE
) BHLAZ
O RMEXNFHLAZ
) BFHswH

SHRENBIRZRHMEBEE - HBEOMM OMP&OMR
Bl o KA F) IRt FE S| B 25k 1k B R e BR IE e R 2 4SR5
m ]

RBEEAERRBEATEERAALTNLLESR  BRFRSR
THEREBETHERASRAEARREREUETE -

Chian Tay Hydraulics has engaged in the business of hydraulic
cylinders for steel molds for over 20 years. Various hydraulic cylinders
from the company are able to meet different requirements of the mold
industry both at home and abroad, paving the way to become leading
products in the line. The company is now in a better position to offer a
wide range of hydraulic cylinders as follows:

2 Heavy oil FA type

J Sensor & heavy oil FA type
J Light oil FA type

2 Heavy oil LA type

J Thin SD type

2 Sensor & thin SD type

2 Thin LA type

J Sensor & thin LA type

2 Thin SW type

Meanwhile, the company’s hydraulic motors for steel molds
include OMM, OMP, and OMR types. The company also provides the
customers with high quality inductive anti-reverse valves and hydraulic
order valves.

Chian Tay Hydraulic appreciates it very much the mold industry
for the use of its products in the past years. The company will continue
its efforts in the upgrade of its products and enhance its product quality
in the future.

8 B A

Hydraulic Block Cylinder

AER4E1EIEl Explo

—A%E! Normal Type

CHIAN TAY HYDRAULICS

#®%% Iltem No.| @m% Description |#E Material

1 BhEEAET Dust Wiper NBR

2 #A A3t Rod Seal NBR

3 BIZ Rod Cover FC25
4 0&18 O-Ring NBR

5 SEER Piston Rod S45C
6 JEE Piston FC25
7 BI;EZBE Piston Seal NBR

8 #EEhE Piston Seal PU

9 B2 Cylinder Body S45C
10 {844 Set Screw SCM435

#®5E Item No.| &% Description [#1E Material
1 FhEE %S Dust Wiper NBR
2 A kit Rod Seal NBR
3 HiZ Rod Cover BC6
4 0&1% O-Ring NBR
5 SEEAR Piston Rod S45C
6 JEZE Piston A BC6
7 BUSEEmE Piston A Seal PU
8 HA Magnet
9 %EE R PistonBSeal| NBR
10 H{F82#4 Set Screw SCM435
11 %8 Cylinder Body SUS-304
12 HERARA Sensor




INDEX

& ih;HEEIFA TYPE

Heavy Oil Hydraulic Cylinder

ﬂ

>J

% HiHEEEIFA TYPE
Light Oil Hydraulic Cylinder

H
=3
]

THBIE

R FETNE M B EIFA TYPE

Sensor Heavy Oil Hydraulic Cylinder

INDEX

ERMEEILA TYPE

Thin Hydraulic Cylinder

BEHBRELISD TYPE
Thin Hydraulic Cylinder

CHIAN TAY HYDRAULICS

#1155 B SE

Hydraulic Motors for Steel Mold

(B

RETEEAREILA TYPE

Sensor Thin Hydraulic Cylinder

B MMETILA TYPE

Heavy Oil Hydraulic Cylinder

I

N EF

Page 14

R FET BB iR [EEEISD TYPE

Sensor Thin Hydraulic Cylinder

MFLERE

R FET B R AEEEISW TYPE

Sensor Thin Hydraulic Cylinder

Connector

REELFA, SD
Air Cylinder




S HH B FIFR TYPE shac = HE  EMETIFA TYPE CHIAN TAY HYDRAULICS

Heavy Oil Hydraulic Cylinder. Heavy Oil Hydraulic Cylinder
ﬁi%&lsi?f;% RITFE - TEEE
FA] [50] [30][T
[FA] [50] [30][ T ] Jp—
- {E B 51140 kg/cm? (14MPa) — M——
Use of pressure: 140 kg/cm? W Exs5
py— ) ST > - F——/——— --B
P BT R (mm) ShEBEL {772 —
B AL 1572 ) A B@D| | 3
PN EEARELR | N  WHLSF » TEEHE - T2sBiE
4K 4-OFB | D __E
i ~—E—<F><Gj<~—H—<S+stroke~<«N-— T— > [<Frl<FoleHs
© @ i 2PT - BT ||
El v = e N
T
Fan <N FEEB R~ .
o gor. s W] : — &
[JDE — F=l- - - f==== - - B A pa S—
- ® 0 y L A B oD & &
FR Z+stroke B B ) Dl - - ﬁ
FY <E-l<>-
SIZE| @ | @ | O (7] [ P >
Son AlD C DDE E|F|G|H|N|Mgg/FRFXFY|FZ K S| Z|PT E ErEu
@30 |25 |16 [M14XP15/45 |31 |23 [14 10|27 23|37 | 9 | 65|30 |81 |50 | M6XP1.0 | 40 |138] 1/4 - - AL TECTAIN)
M: RIEIES T ! BFE1TFE Actual stroke ST : JHEREI{TF2(THOK
@40 |40 | 25 |M22XP15| 65 | 45 | 40 |20 |17 | 33|28 |60 | 12 | 93 | 50 [115| 75 |M10XP1.25| 50 | 188 | 3/8 P B B < FES RF Reserved size L ycraulic cylinder stroke(T plus K)
@50 |45 | 30 |M26XP1.5| 80 | 56 | 40 |20 | 17 | 38 | 30 | 60 | 14 [110]| 56 [150| 85 | M12XP1.5 | 55 | 203 | 3/8

@63 |50 |35 |M30XP1.5/ 90 | 62 |45 |20 | 17 | 38| 30| 65 | 14 |126| 68 |155| 95 | M14XP1.5 | 55 |205 | 3/8

A B | oD | E F H M P T K | ST | FR | FX |9FB
@80 |55 |40 |[M30XP1.5[110| 80 | 45 |20 | 20 | 38| 35|65 | 18 |152| 75 [190[120 | M16XP1.5 | 75 [233 | 1/2
@100| 65 | 50 [M40XP2.0[131| 95 | 55 | 25 | 20 | 41| 37| 80 | 20 |180{100|220|140 | M18XP1.5 | 90 |268 | 1/2
@125| 80 | 60 [M50XP2.0[162(122| 70 | 35 | 30 | 57 | 47 |105| 24 |222|122]280|170 | M22XP1.5 | 100|339 | 3/4

@150(100| 80 [M70XP2.0{195[144 | 80 | 35 | 30 | 60 | 50 |115| 28 [260[155[310(206| 1-8UNC | 90 |345| 3/4 [P ——

@180135|100|{MI0XP2.0{235(175 [100| 35 | 40 | 65 | 55 |135| 35 [315]188(375|250 |1 1/4-8UNC|120[415 | 1" © 12 55 B AT 1512 50mm UL YK {8 25-10mm

@200 135|100|{MI0XP2.0{262(193 [120| 40 | 40 | 65 | 60 |160| 35 |355|207 [425|272 |1 1/4-8UNC|120|445 | 1" © 525 AT 1572 100mm L AK 5 10-15mm
= 1| 4

N
\,I_/
A
\,I_/

&

® EE%iEHEﬁI?‘T#%100mmL}LJ:K1E7,.%15-20mm

TS T_@
- i | HETHESELDS

® it f:?:lt%?ﬁ:imi%ﬁﬂ%—ﬁzﬂﬁlﬁ(ﬁitﬁm

D
A
\,I_/
1
\,I_/
D

s —— ® TEL: 02-29733752, 29725258, 29735107~8
T - / ® FAX: 02-29735109
v S : g3o~@'200 OFB - FR > ® E-mail: chian.tay@msa.hinet.net




EXFE T 6 33X EIFA| TYPE s os = mWEE  REFETUEESMSMEEEIFA TYPE cuian TAY HYDRAULICS

Sensor Heavy Oil Hydraulic/Cylinder Sensor Heavy Oil Hydraulic Cylinder
- AT MR | - FEERRERS ERAE T
The attachment of the sensor line takes only a little space | FA| | 63 | | 30 || T 1[s2][H | RJ "F3E

of hydraulic cylinder and is very easy for installation.
- 1140 kg/cm? (14MPa)

Use of pressure: 140 kg/cm? B EEs
- B BRATI R B S AR 000 T [P APy nm) A2 EE Rl
'El'bi*ézﬁtachment of magnetic sensor piston and magnetic | L7 FE mm) M "
spring access switch can offer signal inspection functions. LN EEARA | NS~ WO ~ TRIRAR - T2 - ST > |
N RUFE#R 21% SHEELITRE —
4-0FB MEAR  FAMEAFHART  HEBEBE
4-K B 50'C bl B MBI A LB
o o 1 < B+ <Fa1<Grie—H—<S+strokes~N— 1
T 2 - PT < T > <_E><_|:> 'I I
i ~ EhITiE ||
1 ol S F==—1 B

r
I -
1 1 1
M 111 |a B @D D D
Z+stroke bmd L @
SZE] g | @ 10 ) el
sore~ | A | D C D |DE EIFIGH/ N M FB FR|FX|FY|FZ K S| Z|PT ) i B 5 ‘
16 [~ >
@32 |30 20 |M14XP1.5{ 50 | 34 | 28 | 15|11 27|23 |43 | 9 | 80| 34 [105| 52 | M8XP1.25 | 50 |154 | 1/4 2 EEs
@40 | 40|25 [M22XP1.5/ 65 | 45|40 (201733 (28|60 |12 |93 |50 |115| 75 [M10XP1.25| 60 | 198|3/8 M RS EEEE T : BWRE{TAE Actual stroke  SHEEATITHE(THIK)
@50 |45|30 [M26XP1.5/80 | 56 | 40 |20 |17 |38 |30|60| 14 [110| 56 |150| 85 | M12XP1.5 | 60 |208 |3/8 P: mxiIEE K : F888 R~ Reserved size Hydraulic cylinder stroke(T plus K)
@63 |50 |35 [M30XP15/90 |62 |45(|20|17 |38|30|65|14 [126| 68 |155| 95 | M14XP1.5| 60 [210|3/8 [7]

A B |9D | E F H M P T K | ST | FR | FX
@80 | 55|40 [M30XP1.5/110| 80 | 45 20|20 | 38| 35|65 18 [152| 75 |190|120 | M16XP1.5 | 72 {230 1/2 FB

@100 | 65 | 50 [M40XP2.0{131| 95 | 55 25|20 | 41|37 |80 |20 [180({100|220|140| M18XP1.5 | 86 |264 |1/2
@125 80 | 60 [M50XP2.0{162(122| 70 | 35 | 30 | 57 | 47 |105| 24 (222|122|280|170| M22XP1.5 | 98 |337 | 3/4

@150 |100| 80 [M70XP2.0{195|144| 80 |35 | 30 | 60 | 50 [115| 28 |260|155(310|{206| 1-8UNC [107|362 |3/4 W L2 RS E R R
@ EH MBI 1TE50mmLL K E A5-10mm

PE
B SUBNELLEIT IR - ALLOD/V2ER @ m@umBRETI 1752 100mmbLAIK B £ 10-15mm
o p——— e e 9}‘
1 -t ©® 5 HMEREI 172 100mmbL " K{& A 15-20mm
T—@ v S D AR t
Jy\
FX M =HESIRLE S
| ] . . o it : HItEESEHEFE—EBA2R(AILIED)
§'} by A3 €| e TEL: 02-29733752, 29725258, 29735107~8
BEEREHEIBES0CULL r BFIEAM E— ® FAX: 02-29735109
55|80 RS - ARFFHERELIRIEE S ST E A AR B R - T AMRE _/ L .
o 4 TEE LS 48R o Smi " OFB |« FR . ® E-mail: chian.tay@msa.hinet.net




&6 33 B FILA TYPE shac = ;MEE  EE3MMESEILA TYPE CHIAN TAY HYDRAULICS

Heavy Oil Hydraulic Cylinder. Heavy Oil Hydraulic Cylinder
RNFE -
- {E FHEE /1140 kg/cm?(14MPa) [LA] [50] [30][T ][S2]
. 2 R
Use of pressure: 140 kg/cm 42) é@ é‘) %)
- 1HE B ET th AT LA FE X ©40-3150 1 [EEmEs
Sensors are available from @40 to @150 OO i EEET P91 (mm)
s e H S+strok N SN SHEEEL1TF2(mm)
T ETTTTS ‘2 PT_"_ StroKe = === 4K B EEAZEIR | NS  WHMNF - TELBAE - T28hiBE
—\_l___ N RUFES 21T RUERF S2 R )
T :iER TR i ‘ BieiER [«———SS+ST —=
A —aaldl L. L_ T% M & &
SESE
+ pd
~ ST >
= - === 1 SHBRAL (77 LI
—L_ . A B @D
<+—XS —+l+—— SS+stroke —— .
< ZB+stroke .
SIZE| g @ OO e e T »|<Erl<F -l H-
sone |A|D C DDEEFGHN K BNBH|SS gg|XS|SBTSUS|T|ZB|S| g [PT w5 1E o (4
@40 (40 | 25|M22XP1.5] 65| 45 |40 [20|17|33[28|M10XP1.25 37 |69.5| 80 | 90 | 54 | 12 | 90 |112 (14148 |50| 60 |3/8
@50 (45 |30|M26XP1.5/ 80| 56 |40 [20|17|38|30| M12XP1.5| 45 | 85 | 89 | 94 | 56 | 14 [115]140 (17160 |55| 60 |3/8 — K—> @ @
@63 (50 | 35|M30XP1.5{ 90| 62 [45[20|17|38|30| M14XP1.5| 50 | 95 | 89 | 94 | 56 | 14 (128|156 {19160 |55| 60 |3/8 RERT
@80 (55 | 40|M30XP1.5{110| 80 (45 [20|20(38(35| M16XP1.5| 60 |115 [111.5( 108| 59 | 18 [152|184 25188 | 75| 72 |1/2 :'-'L Jl'-'—|_|
@100 (65 | 50|{M40XP2.0{131| 95 |55 [25|20(41|37| M18XP1.5| 70 [137.5[129 | 125| 66 | 21 [178]210(27|213|90| 86 |1/2 : : : A B @DEHJ
@12580 | 60 [M50XP2.0{162|122 |70 [35|30|57|47| M22XP15| 90 171|152 | 150| 93 | 24 [230{280|30 (269 100 98 |3/4 17
| S | | S
@150 (100{ 80|M70XP2.0{195| 144 (80 [35/30(60[50| 1-8UNC [113|211[145|162| 95 | 28 270|325 (35|265 |90 | 107 |3/4 <Frl <>
@180 [135100M90XP2.0{235| 175 100|35|40(65(55(1 1/4-8UNC| 143 | 261 | 180 | 180| 108| 35 [330|395 [45|315 120 120 | 1" I~ P > @ @
@200 135[100M90XP2.0{262| 193 120{40|40(65(60(1 1/4-8UNC| 161 |292 | 183 | 183| 113| 35 [360|430 {50 |325 120 120 | 1" =R EERE
E M : RIS IEE T : BRE{TFE Actual stroke L MBRELITHE(THNK)
V HEREI hngE 5| B CPh RS - VRES : P: miIEEHt K : 888 R~ Reserved size Hydraulic cylinder stroke(T plus K)
MEEEI O REFER D - HEETRRR - @40~@150 0] FLAF
- A B gD E F H M P T K ST |[SS+ST
U= REEE P ESRT = > Jy\
© 1235 B AT (71250mmIA K 6 £35-10mm = = S iH EE BIRZ S
® 25 AT TR 100mmbLRKER10-15mm  ® iTiﬂEiJIf ofggﬁ"gi Zmii;*ﬁz Eﬁz—sﬁngg‘ﬁ% ﬁl‘gt’fﬁsla
o 5 _ ® TEL: 02-29733752, 29725258, 29735107~
\ () Em&ﬁ@ﬂﬁ*ﬁOOmml«liK{EEnS 20mm ® FAX: 02-29735109
NPIZF ® E-mail: chian.tay@msa.hinet.net A o




S MEEFIFR TYPE B e == i B S3H3HEXEIFA TYPE CHIAN TAY HYDRAULICS

Light Oil Hydraulic Cylinder Light Oil Hydraulic Cylinder

TR E
[FA| [50] [60][ T ||S2

ﬂ‘-

HEE

- {EREE70 kg/cm? (TMPa)

Use of pressure: 70 kg/cm? -
5 —N—
- AR mEREL _ < —ST ~| SRITEEE
Square-typed die casting hydraulic cylinder [ f;gz — HEEEL1TH2 | I e - B
P R EL 1€ (mm
e BT AT AR FE R 040-0125 | e 1 L
Sensors are available from @40 to @125 W Z=i2m N - WAL - TEEIE - 1200 RIS ? A B@D
- B MBI BEEERSFERELL140kg/cm? Bl BER21E - TRAKEXS2TRT - F-——————_—_ --1B
(14MPa)8{E — T o |<Erl<Fol<H>
«~—E >+ <G><~H-—>+S+stroke >~N— BERTHE
Fl_ l2PT
FA
-/ — K—
B man: T BR~
| (R I E >
¥ ey X T
§$ 1= -F-1-----1 T i 111 |A B D
| B, J Lk ,
_ H <E-l<b>-
) - ]
SIZE| gy | @ 0l 0O ER "
>~ |alp| © |p|pe/E|F|G|H|NFA|FB|FR|FX[FY|FZ| K |S|PT
@30 |30 |16 |M14xP15|50 | 34 | 28|13 15|25 |25| 11| 9 |80 | 34 |105| 52 | M8xP1.25 | 50 | 1/4 M SiEERRE T BERATAZ Actual stroke ST : JHEREL{TH2(TAIK)
P: xRIbE K : 7888 R~ Reserved size Hydraulic cylinder stroke(T plus K)

@40 |40 |20 [M16XP1.5/64 |45 |28 |17 20|30 (30|11 |12 |93 |50 [115| 72 | M8XP1.25 | 50 | 3/8

@50 |45 |20 |M16XP15|70 |50 |28 |17 |20 |30 [28] 11 [ 12 | 93 | 50 | 115| 72 | M10xP1.25| 50 | 3/8 A | B @D| E F H M P | T | K|ST|FR|FX|FB

@63 | 55|25 [M22XP1.5(85 | 60 |40 (20 | 30| 31|31 |14 |14 [117| 60 [ 140| 90 |M10XP1.25| 50 | 3/8

@80 |62 |30 [M26XP1.5(106| 74 |40 |20 | 32 | 37 | 35|20 | 14 [152| 75 [ 180|105 | M12XP1.5 | 55 | 1/2

@100| 78 | 35 |M30XP1.5|122| 89 | 45|20 |32 | 37|37 |20 | 16 {158 | 90 200|125 | M14XP1.5 | 80 | 1/2

e FREE R ERR T
@125 85 | 50 |M40XP2.0|147[110| 55|25 |31 | 40| 40|20 | 18 {184 110 (225|153 | M16XP1.5 | 80 | 1/2 ® 25 ERAT 1542 50mm I BIK & 255-10mm

© EH B TFE100mmBL K {E %10-15mm

° E%iﬁ@ﬂ?ﬁs100mmuﬁmaz%15-20mm

SLEE LT
L ] o it : BItR=EmEMHE—E4257 (R IL1EE)
_/ ® TEL: 02-29733752, 29725258, 29735107~8

FBX4#ll< FR > ® FAX: 02-29735109
® E-mail: chian.tay@msa.hinet.net U

|
D
FaAN
\,I_/

s

\,I_/
O

P40~ B125T] 5T 1H

<——

D

N/
N
\_l_/
Ts
\_l_/

o




5 5

3 &% 51 SD  TYPE

Thin Hydraulic Cylinder

F3h ¢ MMEZER

Feature: taking little space

RRST&

|HT| [sD] [50][20][ N ][ H]

- {E B /1140 kg/cm?

(14MPa)
Use of pressure:
140 kg/cm?

hiil

it [E

SR hERE]

Bz ' sD

JAEEEL I 1R (mm)

JHEEEL 1TF2(mm)

AERERIT NS~ WHME « TEEHE » T28tiBHE

5 MEARW » TMEARHTRTE - EEEEBB
80°CLA L BB M EALR

g A W N -

A il - 2]

140 kg/lcm?

it B2 73

210 kg/cm?

=IEEERBA

5 kg/cm?

EREEHE

8-100mm/sec

EREEEE

-10~+60°C

HEI AR E

S45C

SIZE
A|ALB|C
BORE

CL

@D |SW

m[]

[

£ [H K |M|N@&3 [NH Woi)

WL|P R

PT

@20 (51|69

12| 10

42130

5.5|5.5|9.5| M8X1.25| 10 [M10X1.25

18 [10] 5

10123

1/8

@25 (53|73

14| 12

48

365.5|5.5|9.5| M10X1.5 | 12 |M12X1.5

20 |12]5

10123

1/8

@32 89

20| 17

62

4716.5(6.6| 11 (M12X1.75| 15 |M16X1.5

25 |14 |10

12|28

1/4

240 95

25| 22

70152199 |14

M16X2 | 20 |M22X1.5

30 {15]10

12128

1/4

@50 |71]106(60|11

0 | N[N |o

30 | 27

80

58|11 (11 [17.5| M20X2.5 | 25 |M26X1.5

35 |17 (10

13|30

1/4

263 12067 |13

35| 32

94

69|13 |14 |20 | M24X3.0 | 30 |M30X1.5

40 (21]10

14132

3/8

@80 140|78 |17

14

40 | 36

114186 |15 |16

23 | M27X3.0 | 30 |M36X1.5

45

14137.5

'EH!I

Th|n Hydraullc Cylinder

CHIAN TAY HYDRAULICS

3/8

@1001(110[165(93 |17

14

50 | 45

134102 18 |18

26 |[M36XP4.0| 45 [M40XP2.0

95

3/8

M. . B+ST =
BAGEERE [ Te--oooo oo -
— ST(T+K)—— NS ——— =
AL 742 Y —
A B @D
B T . [ oocccccoooocoaac oo 7
BIF1T1E - l<Frl<—H—s] = L -
— K—> e e e .
HERT T N
r== r=- I |
| |
111 |A B @D &
e
e r
ol I L
- P >
R IERE
M : Bx %2 PR T BFF1T#E Actual stroke ST : BRI 1TFE(THOK)
P: xRIBEt K : 888 R~F Reserved size Hydraulic cylinder stroke(T plus K)
A B aD E F H M P T K ST |B+ST

@125 145/205[12520

60 | 54

1601122| 22

22 M42XP4.5| 50 [M50XP2.0

60 |52(18

5 3/8

r
o

TI-F - = - -4 o

L -F - - - - - - -]

B+ST
A+ST

< X>l<P+ST>l<—Y—

4-OKEZE

Mim OMEH

— |
-

353

/$ ’_*ﬁ:[ *EE

UEeREEESEFEHRT
® EE MBI ITIE50mmLAKEAS5-10mm

© E hEE TFE100mmELRK{E &10-15mm

® Enazﬂilg_zjﬂ?ﬁﬁOOmmLJ\ﬁK{EfE'H5 20mm

IETisjjn’r E%I%‘ﬁ;ﬂ:ﬁ&‘ﬂt Eﬁ"
E".:.“E%’n]o

S SE BB B IR L o)

o ult 1 RILR=EmEMBE 425 (R IAEE)
® TEL: 02-29733752, 29725258, 29735107~8
® FAX: 02-29735109

® E-mail: chian.tay@msa.hinet.net



R

gy

=~ —

Sensor Thin Hydraulic Cylinder

EEREIUSE R BEL AT R
HENMERET N B I RERE

The selection of sensor hydraulic

SHEXEISD) TYPE

RRFE

i 2% == S B2

[HR] [SD| [50][20][ N |[S2][ H ]

cylinder ensures precise 1 WE‘EF?WBEMHESUS = %iﬁ;ﬁgb ;fgigﬁz

injection movement and protects [ E=t : SD BEBFED| 5 kgor

the mold at the same time. B RET I (mm) EREEGE | 8-100mmisec
/Hﬂiﬁlﬁ_'*i(mm) N o
« HEBEE - 7o 4 ERRESE| -10~+60°C

o T{E".':Faﬁ. EEAZEIR C NRF - WHNF » TH | [hHEIARHE | FBESUS 304

Feature: taking little space S s | TogkiniE
- {5 A 73140 kg/cm?(14MPa) N R iR 21

. 2 MEARR » FIMEARRHARTE » RE

Use of pressure: 140 kg/cm 7 [l i
SDR~ &

SIZE 00 o
o [AAL|BCICLIGDISW| | £/ H K M N(RZF) [NH|W(5MF) WL| P |[R | X | Y [PT |8
@20 |66(84(58 (8|6 |12|10|42(30(5.5(5.59.5| M8X1.25| 10 [M10X1.25| 18 |25|5 |10 |23 |1/8 (2K
@25 |68(88(60(8 |6 |14|12|48(36(5.5(5.5(9.5| M10X1.5| 12 [M12X1.5|20 |27 |5 |10 |23 |1/8|2K
@32 |74/99(64 (10| 7 |20 |17 |62|47(6.5(6.6/11 | M12X1.75| 15 [M16X1.5| 25 |24 |10|12 | 28 |1/4|[1F
@40 |75[10565 (10| 7 [25(22|70(52| 9 | 9 |14 | M16X2.0| 20 |M22X1.5| 30 |25 (10|12 | 28 |1/4 1K
@50 |81(11670 (11| 8 [ 30|27 80|58 11|11 17.5| M20X2.5| 25 |M26X1.5| 35 |27 [10|13 | 30 |1/4 |1/
@63 |90(130(77 [13[10[35|32|94|69|13| 14|20 | M24X3.0| 30 [M30X1.5| 40 |31 (10|14 |32 |1/4[1K
@80 [105150/88 [17|14|40| 36 [114/86| 15| 16|23 | M27X3.0 | 30 |M36X1.5| 45| 35|15|14 |375|3/8 |15/
@1001120(175[103(17| 14 | 50 | 45 |134(102( 18 | 18 |26 | M36XP4.0| 45 [M40XP2.0| 55 |46 15|14 |44 |3/8 (15

AOKEE NSENH
2-PT MUmd MixH
[1- - - - - - - T ] R —— T %
L J= == =R m - s ]
@) o)
s el BN - = i Ve
R
L 1O ' © _ N
1=~ = = = = - = =7 T e e - - I
[ - ---- Sooal [ - - - - ----- 1 ]
l«Xo-l<P+ST> <—Y—:> - - A+ST- l«\W|> N
«—B+sF——I C AL+ST ~—OF—
A+ST- OE
/EE@EI *EE

BifE T\ S B HEAEISD TYPE

Sensor Thin Hydraulic Cylinder

- RAFETUHEEMBREL M NI RUMESE 2 - FEEC i = E 2 FARA m] (R AR A%
Sensor hydraulic thin cylinder attaches with sensor pistons. This, together with
magnetic spring access switch, can offer signal inspection functions.

CHIAN TAY HYDRAULICS

- B+ST -
- M > 3 .
Tl Nl M r
[— ST(T"‘K)_> | [poosooosooooooooooooos L _
AT 7I S —
A B @D
< T . [ Jescccccccocoocooo=oo=c .
BElF1T#E <ol <Frl<—H— e L -
— K— [ ]
gR+t e —— o
T
111 |A B D
i i
&~ " e e M
l: P N b L
mREERE

M : ExfSEEE T : BFF1T#2 Actual stroke ST : ;HEREL1T#2(THNK)

P: xRIBE K : 888 R~F Reserved size Hydraulic cylinder stroke(T plus K)
A B aD E F H M P T K ST |B+ST

UEFEREEEEREHR
® FH MBI TFE50mmLAAKEAE5-10mm

© FH B TFE100mmELRK{E %10-15mm

{ Enilﬁilﬁ_éﬂ?ﬁz‘lOOmmL)\ﬁK{EZ%B—ZOmm

— = Jy\
.#.;_':'uzzﬂll_EBEbEl
o it - Rt =EhmEMK—E42R(B11EE

® TEL: 02-29733752, 29725258, 29735107~8

® FAX: 02-29735109

® E-mail: chian.tay@msa.hinet.net

BREREBIB80°CUL L - ERIE A M hERE]
EIMEARRIERERE - EARRESMM



ity HY

Vo N —

Thin Hydraulic Cylinder

3# [&% EI LA TYPE

i

ﬁs‘&.‘

&,

it [E

itG HY

VN N —

Thin Hydraulic Cylinder

3H [BX EILA TYPE

CHIAN TAY HYDRAULICS

. F'%tr,i!i&: N el EXTRAHE: 1 B REGEHEES| 140 kg/cm?
eature: -
ing I HT| [LA] [50][20][ N B mEE7 | 210 kgfem?
taking little space [HT| [LA] [50][20|[ N | [ *:ﬁ LAW BESHED| 5 koo
(14MPa) . o JHEREL1THE(mm) EHEEDE| -10~+60°C
120 kgt Y EERDX N WAT | [amiE] sesc
Bo:'EZE A|AL| B | C |CL|@D|SW | EA | EB|LH|FA|FB|FC|FK| H |@K| M
@32 (64 (89|54 (10| 7 20|17 |70 |56 |25|56|24 10| 20| 9 9 |14
P40 (6595|5510 | 7 | 25|/22|80|64 (296223122011 |11 175
@50 [ 71(106/60 | 11| 8 |30 (27 |94 |74 |34 |74 |27 |13 20|13 |14 |20
@63 |80 (12067 |13 1035|132 (114|189 (42|90 |32 |15| 20|15 |16 | 23
@80 |95 (140,78 |17 | 14 | 40 | 36 |136|112| 52 |107|35 |20 | 23|18 | 18 | 26
2100{110(165|/ 93 | 17 | 14 | 50 | 45 |160(132| 62 |128|40 |25 | 28 | 18 | 18 | 26
Bo:'EZE N(F95F) | NH | W(4MEF) (WL [KW | KT |[KL [KA|KB| U | P | R| X | Y |PT
@32 M12X1.75/ 15 |[M16X15(25 12| 8 |63 28|14 |45|14 | 10|12 |28 | 1/4
340 (M16X2.01 20 |[M22X15(30|112| 8 [ 7028 |15|145|15[10 |12 |28 |1/4
@50 | M20X2.5( 25 |M26X15/35 (14| 9 (8029 |17 | 5 |17 10|13 |30 |1/4
@63 | M24X3.0| 30 |[M30X15(40 | 16 | 10 |100| 31|20 |/55|21 |10 | 14 | 32 | 3/8
@80 | M27X3.0| 30 |[M36X1.5(45 |16 |10 ({120 38 | 24 |55|25 |15 | 14 |3715| 3/8
@100|M36XP4.0 45 M40XP2.0l 55 | 16 | 10 |120[ 40 | 37 |55[36 | 15| 16 | 44 | 3/8
N;ENH ~FK<FB+ST> |~
— N 0T 11 M et
‘ : 2(\ : T ‘ 7
AWl sfat b0 _ ©+.
* ! (] L ! (N 1] E @ —
I 1 1 1 1 1 1 1 1 %
tT i ] I I 1 \ © :
- 2 A&
<KA->-KW-KB+ST+ #_M
S 4-OKEZ
- > l— —_— —/
| [TRST ] Tommn Y eesTexe
ST : SHEEAIFTH2 T 1] B2 14
Hydraulic cylinder stroke ; . i i F %
W Al I
o B H e
| 1] o KW
BR=mas Sy
<\WL>|«——A+ST——>
AL+ST—— »

%TE y B+ST
| | s e P !
2 ik il
——— | | BP
I P — A B = = IR
@ |t | LH
DO el g IR
4-OKEH
OMEH — ST(T+K)—
JHEREL1THE 10 AN \
e K=o T—» K 1K
BR~| EBEFETE L e
e By 1K o EB
| La [A B @D T -1
4= 1 v | LH
. <0< P : : E : : + \/
| 5 R
M B ¥GEERH T : BFE1TTE Actual stroke ST : JHRREL1TFE(THOK)
P: xRIBE K : 888 R~F Reserved size Hydraulic cylinder stroke(T plus K)
A B aD E F H M P T K ST |B+ST

(e S 4

[ ]

X

BHEtRESFF.E

SMFLETRE
ABEB+ST)FEMR10mm L - ALAIZ B RIRM
EREL T AR

il B 15 BR 12 ©)

LR EEREhEHRT
© EH MBI 1TIES50mmELA
K{&55-10mm

® ZEEABEITIZ100mmELA
K{&2410-15mm
° EE%;‘H&EH?—H%OOmmL;Lﬁ
K{E&EA15-20mm

o it | BALRR=EmH E M —ER425R(8dEE)

® E-mail: chian.tay@msa.hinet.net

® TEL: 02-29733752, 29725258, 29735107~8
® FAX: 02-29735109



REIE

HELHESEILA TYPE

Sensor Thin Hydraulic Cylinder

- RRFE U BY i BREL B B RUFE R 28
FRECREEER AR - o LUER AR R o

Sensor hydraulic thin cylinder attaches

_

% *[HR] [LA] [50][20][ N ]|

Sz|

i 2% == S B2

magnotic sping aceess switeh oo ofter [ BB SR AL AR HESUS 3047548 REEREA] 140 ko
signal inspection functions. 2 EEET i EEF 210 kglcm?
- 4534 - LR S R ET RIS (mm) RIEEMERS|  5kglem?
Feature: taking little space O R ET 1T H2 (mm) EFEEEE | 8-100mm/sec
- & 1140 kg/em? (14MPa) N EEAREIR C NRIEF - WHMGF  TELEHE C TOSEHE | (fERBEEE | -10~+60°C
Use of pressure: 140 kg/cm? N RREE#R21% SHIELAREME | THRSISUS 304
SIZE
BORE A |AL| B | C ([CL|GD/SW EA|EB|LH FA |FB|FC FK| H |[OK| M | &
@32 (74 (99 | 64|10| 7 | 20|17 |70 |56 |25 |56 |34|10| 20| 9| 9 |14 |1k
@40 | 75 (105 65| 10| 7 | 25|22 |80 |64 |29 |62 |33|12| 20| 11| 11 [17.5| 1K
@50 |81 (116 70 | 11| 8 | 30 |27 |94 | 74 | 34 |74 | 37| 13| 20| 13| 14| 20 [ 1K
@63 |90 (130 77 | 13| 10| 35|32 (11489 | 42 |90 | 42| 15| 20| 15| 16| 23 | 1K
@80 (105(150| 88 | 17 | 14 | 40 | 36 |134(112| 52 |107| 45| 20 | 23| 18 | 18| 26 | 1K
SIZE
BORE N(RZF) INH |W(4}F) |WL (KW | KT | KL | KA |[KB | U P R| X |Y |PT
@32 M12X1.75| 15 | M16X15| 25 | 12 | 8 | 63 | 28 | 24 |45 | 24 [145| 12 | 28 | 1/8
@40 | M16X2.0 | 20 | M22X1.5| 30 | 12| 8 | 70 | 28 | 25 |45| 25 |15 | 12 | 28 | 1/8
@50 | M20X25 | 25 | M26X15| 35 | 14| 9 | 80|29 |27 | 5 |27 |175]| 13 | 30 | 1/8
@63 | M24X3.0 | 30 | M30X1.5| 40 | 16 | 10 |100| 31 | 30 | 55| 31 [205| 14 | 32 | 1/4
@80 | M27X3.0 | 30 | M36X1.5| 45 | 16 | 10 | 120| 38 | 34 | 55| 35 |245| 14 375 3/8
NENH ~FK-<FB+ST> |~
7 AsRETh NN e o
I 1 |I I| 1 1 1 1 1 [ w W/
ik 1 - |
a- [ JH Y Il L ! ©+.
‘:ﬁ" NCAIAH I ar ar U-HE'@@ 2
- 1 1 1 1 * | | | |
I HE AN i ¢ e \ f
= = AL A
e i ST e —el
KL———— <Crle——B+ST—— ﬁ/ﬁyéqhs'r»*x»
AH
S EA g - A+ST -
ST : JHBREL1THE
Hydraulic cylinder stroke LJ LJ
ER T R
‘ 1 1 1 1
i ) e pa— : ]
1 1 1 1 <—l(l_—>
%k |-
1 1 1 1 KW
<]
<WL>|+——A+ST——» +IKTh=
AL+ST——

REIE

HEIMESEILA TYPE

CHIAN TAY HYDRAULICS

Sensor Thin Hydraulic Cylinder

[ JAR
\S/A\S)
—
(A
-7
- B+ T 4
(DV—(D — -
i RiGiERE | u|v L fu |
LOKEE L sTreg— | | es
X ShEFAT 4= 10 1| 1]
JHEREI T2 A B @D i - — b 4
|+ | LH
<EolaF ol —H— T K vy
: T nPR
«EEHK% BT
(e T i e T B o EB
B VN oD - — — 1
ol 1 1]
Es | 1R
I P 11 1| \
BEEH ]
M. ERFSEERE T BFF1T#E Actual stroke L HBRELTRZ(THNK)
P xRIBEft K : FE8 R~J Reserved size Hydraulic cylinder stroke(T plus K)
A B @D E F H M P T K ST |B+ST

LR EEERSDEHRT
® FH B TFE50mmLAAKEAE5-10mm

© F R TF2100mmLLAK{E &10-15mm

® EEMBEREI1TF2100mmbA £K1E%15-20mm

s 5 5= 5B B2 ;5 BR 2 5]

o it - BALR=FEmENBE—R425R(IEE)
® TEL: 02-29733752, 29725258, 29735107~8

® FAX: 02-29735109

® E-mail: chian.tay@msa.hinet.net



B4 T i BY S [EX EISW' TYPE

Sensor Thin Hydraulic Cylinder

B TR EEE

The best choice to save the space.

- {E B 51140 kg/cm? (14MPa)
Use of pressure: 140 kg/cm?

- & O RERT] A B iR BRI SN

i 2% == S B2

N;ZENH
4_ KE—W
2-PT g
M IRSMEH
T \\ .......................... I
LJ ----------------------------- \-u -------------------- L- @B
o) -
ol 1o Y N ﬂ
A N Q N7\ IS
Y Y
@ N1
(1| P i [ Y r
[T SRS R L] ﬁ“ .
i . %
< C+ST— BB+ST <G ~o
~—0OF—
SWRE D HEREITAE HE
SIZE
BORE BB C CL oD SW LIE LIF H K M
220 66 8 6 12 10 42 30 55 55 95
@25 68 8 6 14 12 48 36 55 55 95
D32 79 10 7 20 17 62 47 6.5 6.6 11
240 80 10 7 25 22 70 52 9 9 14
@50 86 11 8 30 27 80 58 11 11 17.5
263 95 13 10 35 32 94 69 13 14 20
@80 105 17 14 40 36 114 86 15 16 23
3100 124 17 14 50 45 134 102 18 18 26
SIZE
N(RF) NH W5 5F) PP R X Y PT
BORE
@20 M8X1.25 10 M10X1.25 20 5 10 23 1/8
@25 M10X1.5 12 M12X1.5 22 5 10 23 1/8
32 M12X1.75 15 M16X1.5 23 10 12 28 1/4
240 M16X2.0 20 M22X1.5 24 10 12 28 1/4
@50 M20X2.5 25 M26X1.5 26 10 13 30 1/4
263 M24XP3.0 30 M30XP1.5 31 10 14 32 3/8
280 M27XP3.0 30 M36XP1.5 35 15 18 35 3/8
2100 M36XP4.0 45 M40XP2.0 46 15 18 39 1/2

BifE T\ S B HEAEISD TYPE

Sensor Thin Hydraulic Cylinder

- H5EE L ML

Feature: taking little space

- {EHE S : 70 kg/cm? (TMPa)
Use of pressure: 70 kg/cm?

- ABEC REE
Body: aluminum alloy steel.

- MERSENEBUESSEA AL B. P
BRR S HSZRGEFRFZELL
EBIBEAE)

Low pressure-resistance. A, AL, P, and P are higher by 5mm. (Better selecting the stainless steel.)

EEAR AR AREMBIRNERBER  EERR - ERERTHMME)

oo a0 AW N -

_"R

CHIAN TAY HYDRAULICS

% ¢ [HL] [sp] [50][20][ N |[S2]
5> © o

5 ©

RUERER MBI M ERES S

Bz 1 sD BEaEREN| 70 kglcm?(7TMPa)
SHRET IS (mm) EES] | 100 kglcm?(10MPa)
FI—p—p——— RIEENER S| 5 kg/cm?(0.5MPa)
;:;fjgi?m:;ﬂ i | EREEEE| o iommises

! ’ EREEEGE -10~+60°C
RRFERR 2 1% SHALABENE R\at

SDR~F%&
SIZE
AIALIB|C |CLIODISWILEILFI H | K|M| N@™ZF [NH| WursF) WLIP IR XY |PT
BORE
@20 |66(84|58| 8 | 6 |12(10|42|30|55(55(9.5| M8X1.25 | 10 | M10X1.25[18 |(25|5 |10 |23 | 1/8
@25 |68(88|60| 8 | 6 |14(12|48|36|55(55(9.5| M10X1.5 | 12 | M12X15 [ 20|27 |5 |10 | 23| 1/8
@32 |79/104/{69|10( 7 |20(17 62|47 | 6.5[6.6|11 | M12X1.75 | 15 | M16X1.5 [ 25(29(10|12 | 28| 1/8
@40 (80(110[70|10| 7 |25(22|70|52| 9 | 9 |14 | M16X2.0 | 20 | M22X1.5 [30(30(10|12 |28 | 1/4
@50 |86(121|75|11| 8 |30({27|80| 58| 11 | 11 [17.5] M20X2.5 | 25 | M26X1.5 [35(32(10[13 |30 | 1/4
@63 |95(135/82|13(10|35(32|94|69| 13 | 14 |20 | M24X3.0 | 30 | M30X1.5 [40(36(10|14 | 32| 1/4
@80 [1101155/93 |17 (14|40(36|114/ 86 | 15 | 16 |23 | M27X3.0 | 30 | M36X1.5 [45(40(15|18 | 35| 3/8
2-PT
T = D= = = = = =
J--—-\c--L.
— @/ * o N;ZENH
} $- @D 4-OKE=%
10 ! RIROMZEH
Nz |
d-----1r--1 :
® o~
< Xo-l< P+ST>»l<«—Y—
B+ST ~Cr =
A+ST A
e I 7
J-----'L.
Y S
O W
@ OE
F1-IC - o - - - - I 1<C
L - — - - - - - - -
A+ST- <\WL~




&

£iil IR 55 FH i1 |8E &5 i Bi e == 3 JEX BE iZE OMP, OMRE! CHIAN TAY HYDRAULICS

Hydraulic Motors for.Steel Mold Hydraulic Motors OMP, OMR Type
g g | PR | wEa H7okg-m B Fokglom’ E 4
= MlccHE | @l | B | 2E | BE | B | 2@ | B | 8BS | AR ) 82.5 . 28.1
OMMS8 | 82 | 1950|2450 | 1.1 | 15 | 2.1 | 100 | 140 | 200 | 1.9 <25.4» } "
> +1—6.35
OMM12.5 12.9 | 1550 | 1940 | 16 | 2.3 | 3.3 | 100 | 140 | 200 | 2.0 ; | \ 5
OMM 20 | 19.9 | 1000|1250 | 2.5 | 3.5 | 5.1 | 100 | 140 | 200 | 2.1 © ]
0w : ©
OMM 32 | 31.6 | 630 | 800 | 40 | 57 | 6.4 | 100 | 140 | 160 | 2.2 X . 2 S ‘E
= ' - ©
OMP50 | 48.6 | 1230|1540 | 6.5 | 9.3 | 14 | 100 | 140 | 225 | 5.6 ; L Lt £
1 _é_ LO
OMP80 | 778 | 770 | 960 | 11 | 15 | 22 | 100 | 140 | 225 | 5.7 1 i ' , ‘ g
MR SE OMP100| 97.3 | 615 | 770 | 13 | 19 | 27 | 100 | 140 | 225 | 5.9 T8 : ool T
Hydraulic motor : ' ) TN 213.55+0.2
OMP125| 125 | 480 | 600 | 17 | 24 | 37 | 100 | 140 | 225 | 6.0 y L \W NS v e« max. 98.5—»|
g < S 9D
OMP 160(155.7| 385 | 480 | 22 | 30 | 43 | 100 | 140 | 225 | 6.2 P & | /\\ S
T /D |
OMP 200/ 194.6| 310 | 385 | 26 | 36 | 54 | 100 | 140 | 225 | 6.4 ok T\ T 53.240.15 >y 53.240.15
o T 1 ~ =
OMP 250(242.3| 250 | 310 | 28 | 41 | 55 | 85 | 125 | 180 | 6.6 ¥ | DA I
OMP 315|306.1| 195 | 245 | 28 | 39 | 60 | 70 | 100 | 160 | 6.9 f _ 5 16
OMP 400(389.2| 155 | 190 | 28 | 42 | 60 | 55 | 80 | 130 | 7.4 5 ~— max @771 — o
| Te}
OMR50 | 516 | 775 | 970 | 10 | 13 | 17 | 140 | 175 | 225 | 6.7 | ! X i,_
s OMRS80 | 80.3 | 750 | 940 | 16 | 20 | 27 | 140 | 175 | 225 | 6.9 §
8 \ 1
Gear OMR100| 99.8 | 600 | 750 | 20 | 24 | 32 | 140 | 175 | 225 | 7 ; !
D | | ; | | ; | |
OMR125(125.7| 475 | 600 | 25 | 30 | 37 | 140 | 175 | 225 | 7.2 S P o 1313
OMR 160 159.6| 375 | 470 | 32 | 38 | 46 | 140 | 175 | 225 | 7.5 g
OMR 200{199.8| 300 | 375 | 33 | 35 | 56 | 120 | 175 | 225 | 8.0
OMR 250|249.3| 240 | 300 | 36 | 47 | 71 | 100 | 140 | 225 | 85 — 1 p ¢ - Drain connection
OMR315(315.7| 190 | 240 | 35 | 51 | 84 | 80 | 125 | 210 | 9.1 oy Dglglémgizz
OMS 80 | 80.5 | 810 | 1000| 20 | 24 | 26 | 175 | 210 | 225 | 9.8 OMP 50 145.1 6.5
OMP 80 149.0 104
OMS100( 100 | 750 | 900 | 25 | 30 | 32 | 175 | 210 | 225 | 10
OMP 100 151.7 13.0
e OMS 125|125.7| 600 | 720 | 32 | 38 | 40 | 175 | 210 | 225 | 10.3 P — Be
Holder ' '
OMS 160(159.7| 470 | 560 | 34 | 48 | 51 | 150 | 210 | 225 | 10.7 OMP 160 | 159.4 208 . e =
OMS 200| 200 | 375 | 450 | 40 | 50 | 65 | 140 | 175 | 225 | 11.1 OMP 200 164.6 26.0 .# e }m l ﬁ BE y A a
OMS 250| 250 | 300 | 360 | 45 | 54 | 69 | 125 | 155 | 220 | 11.6 OMP 250 | 171.1 395 o il - ItM=EMmEMIR—Er425R(A1LBE
® TEL: 02-29733752, 29725258, 29735107~8
OMS 315|314.9| 240 | 285 | 54 | 63 | 84 | 120 | 140 | 185 | 12.3 OMP 315 | 1795 40.9 o FAX: 02-29735109
w OMP 400 190.6 52.0 ® E-mail: chian.tay@msa.hinet.net




3 JBX BS i OMMES

Hydraulic Motors OMM Type

il 2% == I [EZ

FFTH LR OIS M8 E S8 (Pan) S B BB %
Pum 1061 ZE 418 AR RMEAVEERE(NE L -
Pair © 803ZE 415 l . .

- S Pam=—S10 ERFIE(1 BAIEX, 1580)
DANEOSS ZEHEE1=1ZXBFFAIRRNEEH ' 5
C151-1314.11 15 TRV F S & A rT @ EF I E o
BHRYLEEE A5 ) o -
REFIFE B> —-| 216 133 [— NS

g E g E 28 | . DS
<Z( EI 1 M6 | 2 ﬁ 8 §
O« 1x45° vV = 5
(i — o
% =3l
\Y s o | 2
@ @ 0.5\ ,RO.S ; l ‘;
< J17
—»1 18413
}i H C: F2 A5x5x16 B-B
DIN 6885
~— 36— < L » max. 31.1 11.4+0 1
->| > L1 | 15|
I
R e e (=
s | .
:
Q N J\
(nd
R~ * 7 :
B 5% Type| LMAX L1 0 - A =
f VAR + T 2 8 ©
OMM 8 102.5 4.1 > . y / g 5
OMM 12.5 104.8 6.4 \@ - / l
OMM 20 108.6 10.2 — Y
OMM 32 114.7 16.3 < 80 >
«— 97102 ——— |

i |82 55 i

HBEZERTS REBAORAERE(GNE)

o] USRI EAFL A D

o] LRSI 2R (BFLEE)H 1

LA B B 32 B 0MP-200 & 51

[ F15% E 20K g/m?

;B BiZEH H 55.2Kg-m(BE 1 v] SR %)
Ra% i & B2 1155 100K g/m?

B BEH 11 526Kg-m

BIEH 115.2Kg-m(AE $HEE T1E4)

BB 1126Kg-m(FE M EEFRIRR)

FTREREIE R ATBFL( LEAEB)

(hEEE A M) S
o o (*
(@) (@) (@) (@)
B A
(@] (@) (@] (@]
SR H oA

CHIAN TAY HYDRAULICS

REBHRNETHAE

. O

z
>
N =

3/8PT 3/8PT

@ A

L

3/8PT

3/8PT




i
=
all Mt
il <

o (>

i
22

Ila tﬁ%img

SIS TUiE IE

Inductive Anti-Reverse Valve

(Y
BT EERIE
= = y7] 3\ 3] R
BEHBIZEAR
B A2 EE A HEEATLERTHED S AT
MIBINER - AEBFLIRFAZ thER 0 Seh
B { A | TEEEERLE - maE | AR
BRI 2RE
25 Hlk £ B =15 i - , =z | IMERNBIEIUH LR
BEHSEEH K AEEAE » AR —IR® | 2 maT F (A THE
HE-ERtly BB LR - i
BEHEIIEEHaTAE
=E
RIEATRRMSOBAK BB | oo e oo

TEEs2=XRE

A
[

¥R 82 =2 e e BE ] B

EFHEMEESR  FESIENHIER FREE— B
HEt - REmEREI BN (EBR JI7E T OKG/m 254 Hi bl fa B
BAOFELERES /T,EHJ_*EIEI EXR/NFEMAK > GEEH
STR TR - sFteE HEREI 5| S LR

o ihil I At = HEHIE—ER4257(&ItiEE)
= \m lB_ E BE n a ® TEL: 02-29733752, 29725258, 29735107~8
3 3= == SH J8R y A ® FAX: 02-29735109

® E-mail: chian.tay@msa.hinet.net

CHIAN TAY HYDRAULICS

KBS B0 LRI MBREL L - n]RIFHEREIRES)  SIHEFRE o
The installation of this inductive anti-reverse valve can maintain stable hydraulic
pressure and no backward.

p:
B
&
ClE-Fwtdld|
ol S
BAstitfra St - A aETE 0 | | B
ERRRABHESEEY X

5| EzU5H LR Gk Fwudidss
mEEME - BRI ™MEZER - BA020~050 HRA

5| 8 x05 1k

5| 805 1E
T840~ 150%0E A HR

o it | BALRR=EmE T — 42878 44EE)

E ] ‘-m la_ E BE I\ a ® TEL: 02-29733752, 29725258, 29735107~8
1 3% 3= 3 18R y A ® FAX: 02-29735109
©® E-mail: chian.tay@msa.hinet.net



EHEEIEREESIR HISEHEE KT-30F 351 CHIAN TAY HYDRAULICS

Magnetic'Sensor Pressure Switch M8, M12 Connector KT-30 Series
A 24 M o == = = 3 = =]
<nﬁ¥§M\EEEFﬁEW1§E§E§H§ ! *EE’E%EDHZ%IEFE$UﬁE&*E*§> KT-30R TR KT-20R, KT-20N, KT-20P
— EERACRANEREE  —TEREEHad)%  THMER  TUEEERAASRBABRIEY = e

155{ ==

—  EEREROOBHS - EeAERESELL)  ECOREERL)  BNETATER - ERERHL
AR © BREREBRE - AESTERSNE  ERENTERET -

20 +l< 150610~

1¢7@ 4'] ° ° | I—

L13J & KT-20RE0 B 5 BB
B ' KT-20N/KT-20PHIR S

TN RE

: *
g6

O

eI EBTE"6"
S AEA=EANERMEERRE  —TEFRERDC)ER @ MEEFENPNEPNPRIEES - r
EEEERARRNG)  BEESBEEEN() BeREEEAH - RIEIR
oifeE B  EEF—RIREEREN BT ENERBAEE-
B3 KT-20R / KT-30R KT-20N / KT-30N KT-20P / KT-30P
=E =t = - | e Be BE
L 0 TO—T+ B ﬁ MEC N w e 1
*NPNEY g{i —»ﬁ_)ﬁ *PNPE! ‘% - iﬁ T HHEREE :E . O T AMECiby
e Ml : RS @ TES
EalEa SPSTHERIAY TN EEE  FRE
M- EREHAEREEHNESE  EHEE  BEa8RIERETHE  NtTEREMESS - i IEEERIR HiEe, HIEEENPNEY #EIEEE PNPEY
.EE%“EUEML(DC)EE'Z'IQQEEH% FHilig—E_—SEEEE L EIE "R z2EYAR - ZER S EREREE 5~240V DC/AC 5-30V DC
BEBREIRE - . mAFRBEER 100mA. max. 150mA. max. / 200mA. max.
OERBRIRRAC)BERMEHF » FliE—ERCRIEAEESH L - T TOW 2.5W max. | 6W max.
HEEER — 20mA@24V DC max.(BIRIEN{ERF)
g, mﬁ;( ) R: 2.7KQ REBE R 3.5V max. 2.0V@100mA max. / 0.5V@100mA max.
=2 W @ . =2 W C:0.1uf/600V RRER — 0.0 ITmA max.
*DCEIR % ge *ACTIR f% ETEEE #EBLED #LEBLED #IEBLED ¥ ELED
° ) @4, 2, PVC(IRB) | @33, 2C, PVC(2E)| @4 ,3C, PVC(2E ) @3.3, 3C, PVC(2E &)
AR I {E3EER 200Hz 1000Hz
h -EEHAEAMEEIERRETIOARULER  FRE—(AER2(560~1000uH)  ERBEEF ORI FUERISEE <G 1> 608 / 4058
BRIZRE @ ANLE T RER BB R R IE B EME - EHEESHE -10-70°C
it e <% 2> 30G 50G
| 10ARM E— it 80 <32 3> 9G
e 560~10004H . ﬁ'c?%’fﬁiﬁ%%& IEC 529 IP 6'{ ~ _
g N \_Eisﬁﬁﬁm% }> 1%%@&% ﬂﬁ %7’%&?& ’ 9&7&"&”&{%?&
w | BB S50 1 BB 2R | 015.5X08X5t (RIS HHZIERIE) -
2.IE55BIX ~ Y ~ Z 38w/ B —Ehm 3E]/E—[E]RFRT 1 1ms o

3.48HRME 1.5mm/ 10HZ-55HZ- 10HZIR4E © FFE 12 88/8RX ~ Y ~ Z 3EAEIRIE1/)\BF -

(ERREERRN  EESRREHEANARETEHEECER  BETE
2 4 %




R a1 BB~ BRI =% I == M=

R it 1B R SE MR IE 15 5E

CHIAN TAY HYDRAULICS

— N EIEA & ~ = o BEZ K/\e] BEENAT - BESUBIEART/\DE © 1NE :
5] IR BERAN I Imm(REC I A Z IR E)
4 N
B B ) M .
B ,_m Be | Ei [ . e | E’i A ER R
1 T T28 F B
= we T | wel B
=
=2 R pe— Eﬁ“ E’l RoRCECTRABHE . FeBe_EE @ A B C QD @ e}
i . 82 TEE A PSP BB (Po EB B
- =E, T - B% : 2.4-4V max ) BRIEEHEH T " T " — - N Ba‘
Bk Ef BIAEDME - <> << \?<-H>
" e & RR:— EEBACE ECEDH%IH
- BF > H e
i Ef@ . Z;rinigfl: MRS T : BFF{T#E Actual stroke ST : JEEREI1TF2(THOK) P: xRIEEE
3 e - = . B — {E {3 K 22 B S B 4 K : F88 R~T Reserved size Hydraulic cylinder stroke(T plus K)
BRE~_Ee } B o BT A Sl RIS TR -

A B C D E F G H M P T K ST

A E M BRI HE - BT TR TIE
" J
11D— 22 ~NPN, PNP

ZHRTUNPNEsEIE S E-Saill = ARTAPNPEGIE TS i%- B ~ R
- N \

< M >
pp— )| | t S ol N M
' T2k 318 R EEE R L
Jpum—
| M|
@ A B C@dD
[ Jecoccocccoc—momoo—oococoe=x [
<ErledFrl<Gr "—IJ_ ATt L -
—Tﬁgg T BEFE1T#E Actual stroke ST - JHERFL1TFE(THNK) P EiRIEHH
E N %m%&ﬁfﬁo_{ A1, K : A8 R~J Reserved size Hydraulic cylinder stroke(T plus K)
Alfi B 5B, T - Alfi Bk e | —
mEa< 2o ol mmE< 25 an A | B|C|D|E|F|G|H|M|P|T/| K/|ST
\. ] AN J




F ] &

SR (e S|EEEL)

nl t.l‘.r:E;mFQZ

| [

FEBATIBRLNE | Bl N
E1 7% (mm) 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100|125 | 150 | 200
AR 4Z(mm) 6| 6 8 |10 | 12 | 16 | 20 | 20 | 25 | 25 | 35 | 40 | 50

sEEgEmEE| Al 113 | 201 | 314 | 491 | 804 | 1257 [ 1963 | 3117 | 5027 | 7854 | 12271]17671]31400
(mm? |B| 85 | 173 | 264 | 412 | 691 | 1056 | 1649 | 2803 | 4536 | 7363 | 11309 16415|29437

0.1 Al 11 20 | 31| 49| 80 | 126 | 196 | 312 | 502| 785 | 1227| 1767 3140
"|B| 85| 17| 26| 41| 69| 106 | 165 | 280 | 453| 736 | 1131| 1642| 2944
02A 23 | 40| 63 | 98 | 161 | 251 | 393 | 623 | 1005 | 1571 | 2454| 3534| 6280
“"IB| 17 | 35| 53| 82| 138 | 211 | 330 | 561 | 907 | 1473 | 2262| 3283| 5888
0.3 Al 34| 60| 94| 147 | 241 | 377 | 589 | 935 | 1508 | 2356 | 3681| 5301| 9420
"UIB| 25| 52| 79| 124 | 207 | 317 | 495 | 841 | 1361 | 2209 | 3393| 4925| 8832
0 4A 45 | 80 | 126 | 196 | 322 | 503 | 785 | 1247 | 2011 | 3142 | 4908| 706812560
2 "|B| 34| 69| 106 | 165 | 276 | 422 | 660 | 1121 | 1814 | 2945 | 4524| 6566|11776
£ o 5A 57 | 101 | 157 | 245 | 402 | 629 | 982 | 1559 | 2514 | 3927 | 6135| 883615700
B "“|B| 42 | 87| 132 | 206 | 346 | 528 | 825 | 1402 | 2268 | 3682 | 5655| 820814720
(Mjga) 0.6 A| 68 | 121 | 189 | 294 | 482 | 754 | 1178 | 1870 | 3016 | 4712 | 7363|10603|18840
"|B| 51 | 104 | 158 | 247 | 415 | 634 | 989 | 1682 | 2722 | 4418 | 6785| 9849|17664
0.7 A| 79 | 141 ] 220 | 343 | 563 | 880 | 1374 | 2182 | 3519 | 5498 | 8589|12370|21980
"|B| 59 | 121 | 185 | 289 | 484 | 739 | 1154 | 1962 | 3175 | 5154 | 7916|11491]|20608
0.8 A| 90 | 161 | 251 | 393 | 643 | 1006 | 1570 | 2494 | 4022 | 6283 | 9816|14137|25120
"|B| 68 | 138 | 211 | 330 | 553 | 845 | 1319 | 2242 | 3629 | 5890 | 9047]|13132|23552
0.9 A| 102 | 181 | 283 | 442 | 724 | 1131 | 1767 | 2805 | 4524 | 7069 | 11043 |15904|28260
"“|B| 76 | 155 | 238 | 371 | 622 | 950 | 1484 | 2523 | 4082 | 6627 | 10178| 1477426496
10A 113 | 201 | 314 | 491 | 804 | 1257 | 1963 | 3117 | 5027 | 7854 | 12271]17671|31400
"T|B| 85 | 173 | 264 | 412 | 691 | 1056 | 1649 | 2803 | 4536 | 7363 | 11309 1641529440

AL HEEAR : F: L) (N)
P: H{EEES) MPa
F=PXA-f A EESEER Emng

f: EEVERR S (N)

B EE (i AR -

Pa kPa MPa bar | mbar kgf/lcm? cmH20 |/mmH20| mmHg | p.s.i.

1 10° 107 10 10 | 10.2X10° | 10.2X10"° [101.97X10”| 7.5X10° | 0.15X10°

10° 1 10° 10 10 10.2X10° | 10.2 101.97 7.5 0.15

10° 10° 1 10 10* 10.2 | 10.2X10° [101.97X10°| 7.5X10° | 0.15X10°

10° 10? 10" 1 10° 1.02 [ 1.02X10° [ 10.2X10° | 750.06 14.5

10? 10" 101 10~ 1 1.02X10° | 1.02 10.2 0.75 | 14.5X10°
98066.5 98.07 [98.07X10°| 0.98 980.67 1 1000 10000 735.56 14.22
08.0665 |98.07X10~° | 98.07X10° | 0.98X10" 0.98 10° 1 10 0.74 14.22X10°°
9.80665 | 9.807X10°° | 9.807X10*° | 98.07X10° | 98.07X10°*|  10™ 0.1 1 73.56X10° | 1.42X10°
133.32 [133.32X10°133.32X10"°| 1.33X10° | 1.33 | 1.36X10° | 1.36 13.6 1 19.34X10°
6894.76 | 6.89 | 6.89X10”° [68.95X10°| 68.95 [70.31X10°| 70.31 | 703.07 | 51.71 1

=y

ZF+17#2

CHIAN TAY HYDRAULICS

SIZE

BORE A E F FB FD FF FR FU FX ZF
240 30 |M14X1.5 12 9 9 80 42 100 58 99
250 35 |M18X1.5 12 9 11 90 50 110 66 105
263 35 |M18X1.5 15 11.5 8 105 59 130 80 116
280 40 |M22X1.5 18 14 13 130 76 160 108 138
2100 40 |M26X1.5 18 14 14 150 92 180 124 149
ZT+177%2 A
- ; Z
== : O T O
___________ e
L =t e
LM LL f /' —
' LY+1772 4-0FB, | tz
SIZE
BOR A E FB LH LL LM LR LS LT LX LY ZT
240 30 (M14X1.5 9 40 27 13 42 58 3.2 69 138 132
250 35 [M18X1.5 9 45 27 13 50 66 3.2 78 144 140
263 35 [M18X1.5| 11.5 50 34 16 59 80 4.5 90 166 155
280 40 |M22X1.5 14 65 44 16 76 100 6 115 204 191
@100| 40 |M26X1.5 14 75 43 17 92 118 6 134 212 201
o ithhit | BItB=FHmEME—E425% (A 1L1EER)

EHEFIRL G

® TEL: 02-29733752, 29725258, 29735107~8
® FAX: 02-29735109
® E-mail: chian.tay@msa.hinet.net



]

B (5EH) mEIamiEs = HE SR GSHE) TREETLAMEES cray 1Ay HYRAULCS

. (N HE BT
RNFE 2 EEy
IA;RI |S|D| |3|2 | 3|0 I[N |[s2] M B T 79 5 (mm)
212~3100 RIT(EAEFL) 0 0 0o 0O % & U8 B EL1TFE(mm)
B EZREIR C NRF - WHMNF ~ TES
| RKFERR 218 ARUES2ART
——-—-—1— -
SIZE ]
C |@D| EE E1 E2|COFI@G|/H|CLIL| N&F |LH 4-KEE7) PAIPB| T |0V
BORE
W4 SF @12 | 1| 6 [M5%X08[16.3|23| 5 | 11|5]| 3 |4 | M3X0OSX6E | - |65X45%  BBO43 MSX08XT5E | 65| 6 | - | 25
7745572 ZL4iTE 916 [1.5| 6 |M5X0.8/19.8/28| 5 | 11 |55 3 |4 | M3X0O5XGE | - |6.5X45% ' BiB04.3 M5X0.8X7 5% 7 165 -1]29
H P HL S+17%2 @20 |1.5] 8 [M5X0.8{24 | - | 6 | 15 (5.5 3 | 5 | MAXOTX8R | - |6.5X45% » BBO43  MEX0SXTSR | 75| - | - | 34
- AQ - . . .
: A | ~—C @25 | 2 |10 (M5X0.8/28| - | 8 |17 | 6| 3|5 |MEX08XIOE| - |9XTE Bi#05.1 MEXIX10E 8 | -|-140
o2 =1 — )
o o L — — @32 |3 [12]G18[34] - [10[22|7| 3|6 | MBXIX12E |48.5|9XT:E » Bi&T5.1 + MEX1X10F 9 | - |14| 44
S 8 (| FE—=F ‘ .
s T — @40 | 3[16|G1/8|40| - | 14|28 | 7| 3|8 |M8X1.25X123(56.5(10.5X6F * E®G6.9+ MeX1.25¢125% | 10 | - [14] 52
T =/ D ®\ @50 |4 20|cualas] - [ 17138 9] 3 |11 |woxisxisg| 70 [11xe53 EEe69 Mext 25x165% | 10 | - [19] 62
B/ CL @63 | 4(20(G14|60| - {17409 3 |11 |[MI0X1.515F| 83 [11X85 » EEG6.9 MBX1.25X165% | 12 | - |20] 75
PA
—PAl— @80 | 5(25(G38|74]| - | 22|45 11| 4 [13|M14X1.5X20:F(102 | 14X10.5% * B&G105 M12X1.75X128| 12.5| - |27| 94
QZO, a25 @100| 5 (30| G3/8|90| - | 27| 55 12| 4 |14 |M18X1.5X20iF|122[17.5X13F * B@@12.3 MI4X2X1TE | 17 | - |26]114
' OV
SIZE
V1 X Y Z AM | AQ | B | HL W4 S ZL | ZZ
BORE
@912 | 32 | 3.2 6.3 1 10 12 8 | 17 | M5X0.8 27 44 | 32
@16 | 38 | 3.2 6.3 1 10 12 8 |17.5| M5X0.8 285 | 46 | 34
220 - 3.2 6.3 1 13 15 10 |20.5| M6X1 295 | 50 | 35
925 - 4.2 7.8 1 15 17 13 | 23 | M8X1.25 31 54 | 37
D32 - 4.2 7.8 1 15 18 17 | 25 | M10X1.25 | 345 | 59.5 | 41.5
NAEF W4 240 = 6.2 10.3 1.6 25 28 22 | 35 | M14X1.5 36 71 43
Z2Z+17%2 _
’ Sfﬁz ZL+1772 250 - 6.2 10.8 1.6 25 28 26 | 37 | M18X1.5 38 75 | 47
.. - H1I11=E . e
% c STk 263 - 6.2 10.8 1.6 25 28 26 | 37 | M18X1.5 42 79 | 51
W AM PA PA 280 - 8.2 13.8 1.6 30 33 32 | 44 | M22X1.5 51 95 | 62
L
\ | ZEE 2100 - 102 | 17.3 2 35 38 35 | 50 | M26X1.5 61 | 111 | 73
-9 g A @___ N o it © BILRR=EMmEMIR—Er425R(BALED)
O | —f—= = —— ==1 © TEL: 02-29733752, 29725258, 29735107~8
: REENESRDLE .
- T 5 nﬁ ?ﬁ == 3H J8k y A ® FAX: 02-29735109
LOTL Tt -::gi ® E-mail: chian.tay@msa.hinet.net
B F

- 4-K 2 H4E “



SH & IR F

Hydraulic Order Valve

—{EE#8 ] LA 257 /i BR ] — R — R ENME

Each circle can use two hydraulic cylinders to support both forward and backward

movements

RIEENIET * AL © ATENMEEIE (L B EFIRBEIB1ENE
®RENE2 : Bl | B2ENMERIENI BIFIRATLA2ENE

A2 |
#
%
o
M am
H
%
R
H
I D
: :
| |
~[T] P
| —_— |
| |
A s

B&L




